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B. Com. (Part I) EXAMINATION, 2020

(Old Course)
(Group—I : Accounting)
Paper First
FINANCIAL ACCOUNTING
Time : Three Hours
Maximum Marks : 75
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Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.
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« What do you understand by Capital and Revenue
Expenditure ? Explain their characteristics separately.
Why is it essential to distinguish between the two ?
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Pass Journal entries in respect lowi
¢ of the
transactions : d e

2018
January

1 Pl{rchased goods from Suresh for cash at a list
price of ¥ 20,000 at trade discount of 20% and
cash discount of 5%.

? Purchased goods from Raj : s
. ajeev at a list
¥ 8,000 at 20% trade discount. _ prige ot

6 Returned goods of a list price of Z 700 to Rajeev

as it was defective.
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Sold goods worth ¥ 200.
Sold to Harish for cash goods of a list price of
% 2,000 at a Trade discount of 5% and Cash
discount of 1%. :
Sold to Sohan at a Trade discount of 6% and
cash discount of 1% goods of the list price of
¥ 5,000. He has paid 60% amount in cash.
TIR—2
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What is the meaning of Rectification of Errors ? Give

» their advantages. Explain the main methods of
Rectification of Errors. ' :
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The following balance are extacted for the year ending
31st March, 2019 from the books of Mr. Santosh
Sharma :

Name of the Accounts e -

® ®
Capital . —| 10,000
Cash in hand : o1 aall 1,500 sl
Bank overdraft : — 2,000
Purchases and Sales 12,000 | 15,000
Returns 1,000 2,000
Establishment Charges 2500  —
Taxes and Insurance 500 —
Sundry Debtors and Creditors 5,000/| 2,000
Commission S 500
Investment 4,000 | —
Stock (1st Jan:, 2019) 3,000 —
Drawing ’ 1,460 —
Furniture P 600 et
Bills Receivable and Payable 3,000 2,500
35,000 ( 35,000

You are required to prepare Trading and Profit & Loss

Account and Balance Sheet on 31st December, 2019

taking into account the following information :

(i) Salaries ¥ 100, Taxes T 200 are outstanding but ¥ 50
for Insurance is prepaid.
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(ii) Commission ¥ 100 has been received in advance for
work to be done next year. :

(iii) Interest accrued on Investment ¥ 210. Interest:to be

paid on Overdraft ¥ 300.

(iv) Bad debts reserve is to be maintained ¥ 1,000. -

(v) Depreciation on Furniture at 10%. |

(vi) Stock on 31st December, 2019 is valued at T 4,500.
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A company purchased as second-hand machinery on lst
April, 2016 for ¥ 37,000 and immediately spent ¥ 2,000
on its repairs and ¥ 1,000 on its erection. '
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On 1st October, 2017, it purchased another machinery for
¥ 10,000 and on 1st October, 2018 it sold off the first
machinery for ¥ 28,000 which was purchased on Ist
April, 2016. On the same date it purchased a machinery
for

¥ 25,000. On 1st October, 2019; the second machinery
purchased ’for T 10,000 was sold off for T 2,000.
Depreciation was provided on machinery @ 10% p. a. on
the original cost annually on 31st March. In financial year
2017-18, however the company changed the method of
providing depreciation and adopted the written down
value method, the rate of depreciation being 15% per
annum. Give the Machinery Account for the four years
commencing from 1st April, 2016.

Fperar
! (r)

R-aaRe Gweml gRr v o A gEd g 3R

5 o Tt @l @1 e g | g Heeit @ a

B TR o € ? g @l @ TR AR

Give description of the books to be kept and the Accounts
to be prepared by the non-trading institutions ? How are
the accounts of these institutions prepared ? Give
specimen of these accounts.

TIE—4

. (UNIT--4)

4. ‘umEn @ ¥ @ AP &2 TR R weR @ e

g2 o o @ qr Pram € ? 15

(A-41)



8] CD-2003

What is meant by Branch Account ? How many types of

" branches are there ? What are the rules of making record

in them ?
aRmEr
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A Taxi Company pmﬂmed two cars on Hire-purchase
system and payment were to be made under the following
terms :
On signing the agreement ¥ 3,00,000; at the end of first
year ¥ 5,00,000; at the end of second year ¥ 3,60,000 and
at the end of third year T 3,30,000. Nothing more was

payable. Interest was reckoned @ 10% per annum.
Depreciation had to be written-off @ 20% on the

Diminishing Balance method.
Give necessary Ledger Accounts in the books of the
Purchaser.

(A41)
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What do you mean by Retirement of a Partner ? What are
the rules regarding goodwill at the time of retirement of a

partner ? Give necessary Journal entries to make them
understand.
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Sanjay and Manoj are partners and their Profit & Losses
are in the ratio of 2 : 1. Their capitals are T 15,000 and
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Z 10,000 respectively. 5% Interest per annum has been
agreed to be calculated on the capital of each partner and
Manoj is to be allowed an annual salary of ¥ 3,600 p. a.
which has not been withdrawn. During the financial year
2015-16 Sanjay withdrew ¥ 1,200 and Manoj ¥ 3,000.
The profits for the year before calculating Interest on
Capital but after changing Manoj’s salary amounted to
T 8,000. A provision of 7.5% on this amount is to be
made in respect of commission to the manager.

Show the Partners Capital and Current Accounts :
(a) when capitals are fluctuating.
(b) when capital are fixed.
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